| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
s o T e e

effi

025F-
02

O
T e o

QO

OJ-.\,O-IIII;IIII;IIII;III; ;III;IIII;III;IIII

Rati

] A 1

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

Fit_XiMinusNOPU_NEWdefault_specPLess1
Fit”_XiMinusNOPU_NEWdefault_specPLess2
Fit_XiMinusNOPU_NEWdefault_specPLess3

M—MRETe_XivimusNOPOew-towpt
mk
mk
mk
mk

—a— D

_ - DOM

| Efficiency vs Dz | | —— BYQM_
—— DQM

05 “mkFit"XiMinusNOPU™NEWdefault_specPLess4
N U. X T
> : :

71 RS S S S - —
> : : : : :
LT S RS R S S S

o : : : : :
.35 o Frrereree frorereeeee A
(¢} : : : : :

T
028

0.2 b
R TR NS S WSS R -

C)l'LL) 111 j [ i 111 . 111 i i 1 j 11 1

111111ﬁ1111111||L

H
I
o
o
4

™

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


